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	SECTION A (COMPULSORY)
	
	


	QUESTION 1 
	
	


	1.1
	MULTIPLE-CHOICE QUESTIONS  
	
	


	
	1.1.1   

1.1.2      

1.1.3   

1.1.4   

1.1.5

1.1.6   

1.1.7   

1.1.8       
	B    (per capita national income)  ((
A    (weather patterns) ((
A    (education)   ((
A    (privatisation) ((
C    (decline in mineral exports) ((
C    (free-floating) (( 

C    (cash payments to exporters) ((                 
A    (exchange control) ((                                                      (8 x 2)
	
	(16)


	1.2
	MATCHING ITEMS  
	
	


	
	1.2.1   

1.2.2   

1.2.3   

1.2.4  

1.2.5  

1.2.6    

1.2.7  

1.2.8      
	G - the total value of all final goods and services produced within 

      the borders of a country in a given year (
H - the upper turning point of the business cycle (
D - uses interest rates to influence the level of expenditure (
F - a system of government that does not approve rules and 

      therefore causes delays (
E - financing instrument distributed among member countries of the                          

      IMF (
A  - the rate banks are paying for lending money from the central 

     bank(
B - allows imports from member states to qualify for duty-free  

      access to other member states(
C - is set up to promote co-operation, policy coordination and  

      political dialogue in international and financial matters(  (8 x 1)
	
	(8)


	1.3
	GIVE THE CONCEPT  
	
	


	
	1.3.1

1.3.2

1.3.3

1.3.4

1.3.5

1.3.6
	Multiplier (                                                                                       

Trough (
Revaluation (
Import substitution (
Balance of payments (BOP) (
Enforced / forced / compulsory import substitution (              (6 x 1)
	
	(6)


	                                                                                                        TOTAL SECTION A:
	
	30


	SECTION B
	
	


	Answer any TWO of the three questions in this section in the ANSWER BOOK.
	
	


	QUESTION 2:  CIRCULAR FLOW & BUSINESS CYCLE            
	
	


	2.1
	Answer the following questions:
	
	


	2.1.1
	List TWO types of flows in the circular flow diagram.

· Real flow (
· Money flow (                                                                                        (2 x 1)                                                                                                                                                    
	(2)    


	2.1.2
	Why government expenditure is regarded as an injection in the economy?

· Jobs are created through government expenditure ((
· The income earned by households (through jobs) will increase the demand of goods and services ((
·  The increase in demand of goods and services will lead to economic growth (increase the production levels) ((                                          (2 x 1)                                                                                                                                                    
	(2)    


	2.2        
	Data Response
	
	


	
	2.2.1 
	Identify ONE activity of the primary sector.
· Agriculture(
· Forestry(
· Fishing(
· Mining and (
· Quarrying (                                                           (Any 1 x 1)
	
	(1)    


	
	2.2.2
	Which method is used in the above table to calculate GDP?

· Value-added / production method (                             (1 x 1)
	
	(1)    


	
	2.2.3 
	Which sector has contributed the most percentage to the GVA? Hint: Convert the contribution of each sector into a percentage.
% contribution of prim. sector = 371 268 / 3 404 493 x 100 = 10.9 %(
% contribution of sec. sector = 716 620 / 3 404 493 x 100 = 21.05 %(
% contribution of tert. sector = 2 316 605 /3 404 493 x 100=68.05%(
The sector that has contributed the most is tertiary = 68.05%(
	
	(4)


	
	2.2.4 
	Why are national account aggregates of economic importance?
· Are used to determine the wealth of a country ((
· Are a composite contribution of all sectors in the country ((
· Are used to measure the economic performance of the country ((
· They indicate economic activity within a country ((
· They measure / compare economic growth from one year to the next ((                                                           (Any 2 x 2) 
	
	(4)


	2.3
	Data response: 
	
	


	
	2.3.1
	Name the stage of the business cycle mentioned in the cartoon.
· Recovery (
	
	(1)


	
	2.3.2
	Which main economic indicator can be used to determine the state of the South African economy? 
· Real Gross Domestic Product((
	
	(2)


	
	2.3.3
	What will be the negative impact to the households if the economy is in the downswing phase?
· They will lose their jobs / low standard of living(((
· Increase in unemployment rate / high poverty levels(((
· Their assets such as houses / furniture / cars can be repossessed. (((                                                (Any 1 x 3)
	
	(3)


	
	2.3.4
	How can the government speed up the recovery of the economy?
Government has TWO important fiscal policy instruments :

· Taxes (
· They can reduce taxes ((
· E.g. Income tax/company tax (
· That will give consumers and companies more money to spend on goods and services and for companies to expand their production capacity ((
· Government spending (
· They can increase spending ((
· E.g. Spending on salaries, infrastructure and creating more job opportunities (EPWP) (
· That will increase expenditure which will stimulate economic activity ((
        (Accept any other relevant fact)                               (Any 2 x 2)
	
	(4)


	2.4
	Tabulate TWO differences between subsidies on products and subsidies on production.           
Subsidies on products

Subsidies on production

· Are financial incentives to help struggling industries produce, as well as direct subsidies payable per unit exported to encourage exports((
· Example, government subsidy on bread((
Are subsidies that are not linked to specific goods and services((
Example, subsidy made on employment((
(2 x 4) 


	
	(8)


	
	2.5
	In your opinion, why is it important to measure the length of a business cycle?  
· The length or duration of the cycle is measured from peak to peak or from trough to trough.

· It is vital to measure the length of a business cycle in order to predict the strength of a cycle.

· Longer cycles are stronger whilst shorter cycles are weaker.

· The length will assist in making informed economic decisions (predictions).

· Example, economic participants will be able to spend wisely during longer periods to avoid from being depressed. 

                             (Accept any other relevant fact)  (Any 2 x 4)
	
	(8)
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	QUESTION 3  
      PUBLIC SECTOR
	
	


	3.1
	Answer the following questions.
	
	


	
	3.1.1
	Name TWO problems of public sector provisioning.
· Privatisation / Nationalisation (    
· Accountability (    
· Pricing policy (    

· Efficiency  (    

· Assessing needs (     

· Parastatals (                             

            (2 x 1)
	
	(2)


	
	3.1.2
	How important is the economic growth for South African economy?

· Economic growth makes it possible to improve the standard of living of people and to reduce poverty((
· An economic growth stands the country in good stand in the international community((                             

              

                    (Accept any other correct relevant fact) (1 x 2)
	
	(2)

	3.2
	Data response:
	
	


	     
	3.2.1
	The new tax rates above, refers to which tax year?

· Tax year ending 29 FEBRUARY 2016 (
	
	(1)


	
	3.2.2
	Identify the department that has publicized the above information.

· National Treasury (
	
	(1)


	
	3.2.3
	Why the state ensures that each individual pay different amount of personal income tax?
· To ensure fair distribution of income and wealth((
· To protect the poor from being poorer((
· To encourage demand for goods and services((         (1 x 2)
	
	(2)


	
	3.2.4
	Determine the amount of tax paid by someone who earns R560 440.
· R149 619 + 39% of R560 440
· R149 619 + (39/100 x R560 440) (
· R149 619 + R218 571.60(
· R368 190.60(
	
	(3)


	
	3.2.5
	How social rights are embedded in the South African budgets? 
· Education as one of the basic human right, is receiving a largest portion in the budget / this ensures that all South Africans are literate and equipped with skills(((
· Social welfare is also receiving a portion in the budget to ensure that all South Africans can satisfy their basic needs (are not living under poverty). (((
· The government ensures that the majority of citizens have access to basic services (such as shelter, water, electricity) to those who cannot afford. (((     

                                                  (Accept any other relevant response)
	     
	(3)


	3.3
	Data response:
	
	


	
	3.3.1
	Identify any TWO spheres of the government from the extract. 

· Local municipality(
· Provincial municipality(
· National municipality(                                           (Any 2 x 1)
	
	(2)


	
	3.3.2
	State the date in full in which SA’s local municipality elections were held? 
· 3rd August 2016((
	
	(2)


	
	3.3.3
	Is your municipal council effective in delivering the services? Motivate your answer.       
· Yes / No – learners should highlight the services that are not delivered such as no houses, access to water, electricity, proper roads (tarred roads), clinics, sanitation, etc. (((
	
	(3)


	
	3.3.4
	How successful is the national government in conserving the resources? (Necessity of the public sector)
· Government has successfully intervened to protect the environment when it is exposed to insensitive and even careless use that may damage it through policies and permits. (((
· For example, green tax is charged to polluters for polluting the environment, the municipalities are charging fines to those who dumping garbage polluting natural scenery, fishermen should have fishing licences whilst hunting licences are required from hunters. (((
· All these measures are to ensure that South African natural resources are protected
                                  (Accept any correct and relevant facts)
	        
	(3)


	3.4
	Briefly explain politicians and lack of motivation as problems of public sector provisioning.
Politicians
· Is caused by politicians who are only interested in maximizing their votes to get re-elected. ((
· They may engage in short-term strategies / cause budget deficit to please the voters. ((
· Such strategies can lead to an oversupply of resources which can have a negative effect on the functioning of the public sector in the long term. ((   
· Can also serve their own interests through corruption, personal and hidden agendas and suspicious motives((                               (Max 4)
Lack of motivation

· Occurs when workers are not receiving incentives (recognition)  for successful service delivery((  
· Meaning that are only monitored on inputs and whether procedures and processes are correctly followed((
· Public sector service delivery will be affected due to increase in the rate of absenteeism and long tea / lunch breaks caused by being demotivated.((                                                                           (Max 4) 
                                                       (Accept any other correct and relevant fact)                        
	 
	(8)


	3. 5
	In your opinion, can the South Africans in partnership with the government play a vital role in ensuring full employment and economic growth?
Full employment

· Can take place when people who want to work and are looking for work are able to find employment((
· The government is equipping people with skills (through learnerships and SETAs) that will enable them to create jobs for themselves((
· People should avail themselves and attend these programmes to have a qualification((
· Education is allocated the biggest portion in the budget annually.
· Also, the government supports labour-intensive and informal sector((
                                                                                                     (Max 4)
Economic growth

· Refers to an increase in the real GDP((  

· There must be more goods and services produced in the economy than population growth((
· People should be innovative and be willing to take risks (use their entrepreneur skills) ((
· People should not depend on social security whilst are healthy and productive((
· The state should provide financial support to SMMEs((           (Max 4) 

                                                       (Accept any other correct and relevant fact)                        
	 
	(8)
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	QUESTION 4:  INTERNATIONAL TRADE AND PROTECTIONISM & FREE TRADE                                                                                               
	
	


	4.1
	Answer the following questions.
	
	


	
	4.1.1
	Name TWO items in the financial account of the balance of payments.    

· Direct investment(
· Portfolio investment(
· Other investment(    
· Derivatives (
· Assets(      
· Liabilities(                                                                   (Any 2 x 1) 
	
	(2)


	
	4.1.2
	How climatic conditions will influence international trade?  

· Climatic variations such as droughts, floods, heat or cold affect production((
· Different climatic conditions allow some countries to grow certain crops that other countries cannot produce and have no choice but to import((                          

                  (Accept any correct and relevant fact) (Any 1 x 2)
	
	(2)


	4.2
	Data response

	
	


	
	4.2.1
	Define the term exchange rate.
· US$(
	
	(1)


	
	4.2.2
	Identify the initial exchange rate from the graph?
· R14.60(
	
	(1)


	
	4.2.3
	Define the term exchange rate.
· When the price of the currency of one country is expressed in terms of another country’s currency((
· Refers to the purchasing power of a currency in terms of how much other currencies can buy((                (Any 1 x 2)
	
	(2)


	
	4.2.4
	What effect the shift in the demand curve will have on the price of dollars?
· The price of dollars will appreciate (increase) ((
	
	(2)


	
	4.2.5
	Explain how an increase in the number of US tourists to South Africa will influence the value of the rand.

· More US tourists in South Africa means a higher demand for ZAR / The supply of dollars will also increase ((
· That will result in an increase in the value of the rand (appreciation of the rand) ((                                             (2 x 2)
	
	(4)


	4.3
	Data response.
	
	


	                                                                                      
	4.3.1
	Identify two major chicken producers.                                    

· RCL foods(
· Farmer Brown(                                                            (2 x 1)
	
	(2)


	
	4.3.2
	According to the extract, what would be the impact if the South African producers are not protected?
· More than 1 300 workers will be retrenched((
· Various farms will shut down((                              (Any 1 x 2)
	
	(2)


	
	4.3.3
	Define the term dumping.
· When a country imports large amounts of cheap goods from an exporting country((         (Accept any other relevant fact)
	
	(2)


	
	4.3.4
	In your opinion, is it important for South African government to implement protectionist policies? Motivate your answer.
· To protect South African infant industries((
· To protect South African jobs and workers((
· To raise government revenue((
· To diversify our economy(( 

· To protect strategic industries and economic self-sufficiency((
· To correct balance of payments and stabilise the exchange rate (( 
NB: No credit for Yes / No. Allocate 2 marks for each fact)

                                                                                         (Any 2 x 2)  
	
	(4)


	4.4
	Discuss specialisation and mass production as effects of international trade.                                    
Specialisation
· Countries that specialise in the production will have the most competitive price. ((
· International trade can have a negative impact on some industries and on the people in some countries. ((
· Example, China produces high-quality textiles at comparatively low prices than South Africa. (( 

· South African textile producers cannot compete with Chinese producers and had to close down. ((
· Example, USA and Japan are world leaders in the production of digital cameras and computers. ((                                                             (Max 4)
Mass production
· Producers can increase production for they have larger markets. ((
· More domestic production factors will be employed which leads to higher standard of living. ((                                                       (Max 4)                         
	 
	(8)


	4.5
	 Evaluate whether the policy of free trade benefits South Africa?     
· South Africans have a freedom of choice; can purchase products for less anywhere in the world. ((
· South African producers specialise in producing certain goods and services without wasting resources. ((    
· Producers are innovative – they compete to find best production methods and are able to improve the quality of goods. ((
· It has encouraged globalisation and cultural diversity – people with different backgrounds are able to access goods and services from various parts of the world. ((
· It has encouraged countries to seek and achieve peace. ((
	
	(8)

[40]


	TOTAL SECTION B:
	
	80


SECTION C

	Answer any ONE of the two questions in this section in the ANSWER BOOK.

Your answer will be assessed as follows:
	
	


	STRUCTURE OF ESSAY
	MARK ALLOCATION

	Introduction
	Max. 2

	Body
Main part: Discuss in detail/In-depth discussion/Examine/Critically discuss/Analyse/Compare/Evaluate/Distinguish/Differentiate/Explain/ Assess/Debate

Additional part: Give own opinion/Critically discuss/Evaluate/Critically evaluate/Draw a graph and explain/Use the graph given and explain/ Complete the given graph/Calculate/Deduce/Compare/Explain/ Distinguish/Interpret/Briefly debate/How?/Suggest
	Max. 26

Max. 10

	Conclusion

Any higher-order conclusion should include:

· A brief summary of what has been discussed without repeating facts already mentioned 

· Any opinion or valued judgement on the facts discussed

· Additional support information to strengthen the discussion/analysis

· A contradictory viewpoint with motivation, if required 

· Recommendations
	Max. 2

	TOTAL
	40


	QUESTION 5:                BUSINESS CYCLE                                                        
	
	


	The state needs policies to smooth fluctuations and to achieve certain objectives.
· Discuss in detail the new economic paradigm, with special reference to demand-side policies (fiscal and monetary policies).                    (26 marks)
· Use Phillips curve to explain the relationship between inflation and unemployment?                                                                                  (10 marks)
	
	


	INTRODUCTION
· Theories by the Monetarists (Friedman) and Keynesians (Keynes) are extreme and only true under specific circumstances (( /
· Under real circumstances, government pursues economic growth irrespective of being inherently stable or unstable market conditions prevalent(( /

· According to the New Economic paradigm, it is possible for output to rise over extended periods of time without being hampered by supply constraints and inflationary pressures/ does not render ideal policies((
                                                              Accept any relevant introduction. (Max 2) 

BODY
MAIN PART
· Governments’ aim with business cycle policies is to achieve the best possible growth rates. ((
· They need to apply policies to smooth out cyclical movements. ((
· Government use monetary and fiscal policies to do this((
· Fiscal policy – more successful in stimulating a depressed economy((
· Monetary policy is more effective when dampening an overheated economy that has inflation rising. ((
Fiscal policy
When the level of economic activity changes the Minister of Finance can use expansionary or contractionary measures to reduce fluctuations of such economic activities((
· An expansionary fiscal policy can be implemented when the economy is in recession in order to stimulate economic activities. ((
· An increase in government expenditure will increase aggregate demand. ((
· This serves as an injection into the economy as production will increase, more factors of production will be employed. ((
· This will lead to higher income and higher expenditure. ((
· Taxes can be reduced, which lead to an increase in disposable income. ((
· This serves as an injection into the economy and eventually aggregate demand will increase. ((
· When the economy grows too fast government can reduce its spending and increase taxes. ((
· This will lead to a decrease in aggregate demand which will reduce production as fewer goods and services will be needed. ((                                    (Max 14)
Monetary policies
When the level of economic activity changes the SARB can use expansionary or contractionary measures to reduce fluctuations of such economic activities((
· An expansionary monetary policy can be implemented when the economy is in recession in order to stimulate economic activities. ((
· Interest rates can be reduced to encourage spending. ((
· Households and firms can therefore borrow more and spend more((
· Increased spending increases the level of economic activity. Investment will increase and more factors of production will be employed((
· Higher levels of production, income and expenditure will be achieved((
· If the supply of goods and services does not increase in line with increase in demand, inflation will increase. This means that demand will be greater than supply. ((
· Inflation can be curbed by reducing money supply and available credit((
· To dampen the demand at the peak the government will be able to reduce money supply by increasing interest rates((, selling government bonds and securities through open market operations((, reduce the supply of money in circulation((, increase the cash reserve requirements to manipulate money creation activities by banks((, persuade banks to decrease lending through moral suasion(( and to devalue the exchange rate through the exchange rate policy((                                                                                                  (Max 12)                                                       
     NB: BOTH POLICIES MUST BE DISCUSSED IN FULL TO SCORE 26 MARKS –    

             MARK ALLOCATION CAN BE 12 / 14 OR 14/12
ADDITIONAL PART
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· The Phillips curve shows the inverse relationship that exists between unemployment and the inflation rate. ((
· When the inflation rate is high at 6%, unemployment rate is low at 3%.((
· When the inflation rate falls to 2%, unemployment increases to 5%.((
· When unemployment rate is 100%, inflation is zero. ((                               (Max 6)
                                                                                                                      (Max 10)                                           
CONCLUSION
· It remains critical that business cycles must be clearly monitored through the indicators available; policy makers must act quickly by using monetary and fiscal instruments in order to prevent instability in the economy.

· Accept any correct and relevant conclusion) ((                                          (Max. 2)

                                                                                                                                [40]
	QUESTION 6:                    
    
	
	


	To be internationally competitive, a country needs to have suitable trade policies in place. They have to grow their industries if they want to increase the standard of living.

· Discuss in detail import substitution.                                                   (26 marks)

· Evaluate the effectiveness of the import substitution policy for South African economy.                                                                                                          (10 marks)                                                                     
	
	


	INTRODUCTION
The replacement of foreign produced goods with locally produced goods. It can take voluntary or enforced form. ((                                                                                    (2)
BODY

MAIN PART
METHODS OF IMPORT SUBSTITUTION

· Tariffs( are custom duties or taxes on imported goods. It takes the form of specific (tariff per size or mass), ad valorem (charged as a percentage value) ((
· Quotas(- limits on the amount of goods that can be imported. ((
· Subsidies( to local firms to export more((
· Exchange control(-the government can limit the amount of foreign exchange made available for imports((
· Physical control( in the form of a complete ban or embargoes on certain goods e.g. arms and drugs((
· Trade diversion(- time delaying tactics to discourage the importation of certain goods like import deposits((                                                                  (Max 14)
ADVANTAGES

· Easy to implement through the imposition of tariffs and quotas((
· Industrial development is encouraged((
· Employment opportunities are increased((
·  A decrease in imports leads to an improvement in the BOP. ((             (Max 4)
DISADVANTAGES

· It does not lead to an overall reduction of imports, S.A still imports intermediate goods((
· Inefficient local production as the local firms are shielded from competition((
· Domestic consumers are forced to buy goods at higher prices on the international market. ((
· Costly and uneconomical projects are established like Mossgass in Mossel Bay((                                                                                                       (Max 8)                                                                                                      
(26)
ADDITIONAL PART
· The import substitution policy has not been effective for African economy. ((
· This is because of controversial agreements signed with the world economic powerhouses like AGOA((
· AGOA allows the U.S to come and dump their poultry in South Africa which causes the loss of profits in the local poultry industry((
· Jobs are also lost in the textile industries due to cheaper  import from China((
· Even if South Africa wanted to apply this policy it will not succeed due to the fact that it still has to import capital goods from other countries((         
                                           (Accept any other correct and relevant fact) (Max 10)
CONCLUSION
The world has become so globalised such that it would be difficult for one country to operate in isolation. ((                                                                                        (Max 2)                                              
	
	[40]


	TOTAL SECTION C:

GRAND TOTAL:
	
	40

150
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NOTE WELL:





Phillips curve = Max 4 


Correct labeling of vertical line (figures & Inflation rate) (


Correct labeling of horizontal line (figures & unemployment rate)(


Correct shape of PC(


Indicating certain points(





Explanation = Max 6
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